{&} HANUMAN

Low Profile Slide Table

MXF Series

How to Order

MXF [12|-|50|—|M9BW |

Bore size/
Stroke (mm)

o8

10, 20, 30

012

20, 30, 50

216

30, 50, 75

020

30, 50, 75, 100

lMade to Order
Number of
auto switches
Nil 2 pcs.
S 1 pc.
n “n” pcs.
Auto switch

[ nil

| Without auto switch (Built-in magnet) |

* For the applicable auto switch model, refer to the table below.

How to Order Adjusting Bolt Assembly (Accessory)

MXF-A[16|27 -

Applicable
bore size
8 08
12 212
16 016
20 220

Adjustment range

Nil 5mm | Standard
X11 15 mm Option
X12 25 mm

# -X12 (adjustable range 25 mm) is not available in the MXF8/MXF12 series.

Applicable Auto Switches

5 o Load voltage Auto switch model Lead wire length (m) 5 g .
: : Electrical | 5 iring re-wire pplicable
)| Sip=si i entry 8 (Output) DC AC | Pemendicular In-line &‘ﬁ) (Ijll) (i) (;) connector load
) - Exrycon R i Mopv—|—wop | @ [@ @ |0 °o
7 2-wire 12v M9BV | MoB | @ [@[@[O| O -
] -
= - I 3-wire (NPN) MONWV | MONW | @ (@ @O o -
3
B | e | Grommet | Yes [Gwire (PNP) | 24v | *'2Y]  — “mopwv | moPw | @ @ @[O| O | o) feln
® 2-wire 12v MOBWV | M9BW | @ @ @ O o —
® 3-wire (NPN) MONAV | MONA [ O [O|@[O] O y
k- Water resistant - 5V,12V IC circuit
S | (2-color indicator) 3-wire (PNP) M9PAV M9PA O|0|®@|O @)
@ 2-wire 12v M9BAV MBA | O |O| @O O —
= 3-wire -
E"; rommet Yes | Equiv. toNPN) | 5V — A96V A96 o — 0 — — IC circuit| —
2 R
g 2-wire oav | 12v 100V A93V A93 [ BK 3K 3K ) — = Relay,
s None 100Vorless| A0V A90 o — 0 — — IC circuit| PLC




&} Hanuman I

Low Profile stide Table MIXF Series

Specifications

Bore size (mm) 8 12 16 20
Piping port size M3 x 0.5 M5 x 0.8
Fluid Air
Action Double acting
Operating pressure 0.1510 0.7 MPa
Proof pressure 1.05 MPa
Ambient and fluid e —-10t0 60°C

Operating speed range
(Average operating speed) °®

50 to 500 mm/s

Cushion Rubber bumper on both sides
Lubrication Non-lube
Symbol Reed auto switch
Rubber bumper Auto switch (Option) Solid state auto switch (2-wire, 3-wire)
— 2-color indicator solid state auto switch (2-wire, 3-wire)
Stroke length tolerance +imm
Stroke adj range Extension end 5 mm/Retraction end 5 mm

Note) Average operating speed: Speed that the stroke is divided by a period of time from starting the
operation to reaching the end.

—» IN

Theoretical Output ouT <+— [Eil (N)

Bore size Rod size Operating Piston area Operating pressure (MPa)

(mm) (mm) direction (mm2) 02|03 |04 )|05]|06 |07

3 4 ouT 50 10 15 20 25 30 35

IN 38 8 11 15 19 23 27

12 6 ouT 113 23 34 45 57 68 79

IN 85 17 26 34 43 51 60

16 8 ouT 201 40 60 80 101 | 121 141

IN 151 30 45 60 76 91 106

0 10 ouT 314 63 94 126 | 157 | 188 | 220

IN 236 47 71 94 | 118 | 142 | 165

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm2)

Standard Stroke

Model Standard stroke (mm)
MXF8 10, 20, 30
MXF12 20, 30, 50
MXF16 30,50,75
MXF20 30, 50, 75, 100
Weight (9)
Standard stroke (mm)
Model
10 20 30 50 75 100
MXF8 120 130 170 — — —
MXF12 — 210 250 360 — —
MXF16 — o 360 500 690 —
MXF20 — — 600 750 1060 1370



https://www.smcworld.com/webcatalog/en-jp/seriesList/?type=GUIDE&id=IDK-E

&} Hanuman I

MXF series

Table Deflection (Reference Values)

Table displacement due to

pitch moment load

Table displacement when loads are applied to
the section marked with the arrow at the full
stroke.

= ]

Table displacement due to
yaw moment load

Table displacement when loads are applied to
the section marked with the arrow at the full

stroke. l
[
— |

Table displacement due to
roll moment load

Table displacement of section A when loads are
applied to the section F with the slide table
retracted.

| ]
o] I

MXF8 Lr = 20 mm
0.08 0.04 ! 0.03
MXF8-30
€ € E
£ MXF8-30 E E
g 00 £ 003 e
g g g oo MXF8-10 MXF8-20 MXF8-30
3 E MXF8-20 || £
§ § §
0.04 0.02
£ MXF8-20 £ £
] L1 8 8
8 8 8
3 3 |~ MXF8-10 g o001
5 5 5
o 002 = 2 001 °
2 ALAT TR 2 o ]
& | [ &
“ ‘
0 10 20 30 40 0 10 20 30 40 0 10 20 30
Load (N) Load (N) Load (N)
mxF12 Lr = 30 mm
0.10 MXF12-50 - 0.08 0.06
£ £ £
£ o.08 £ £ y $ y
z Z 006 iz U = MXF12-20 MXF12-30 MXF12-50
g 8 ‘ 8 o004
E o006 MXF12-30 _| | g E /
2 g o004 MXF12-30 — 8
£ £ ‘ §
g 0.04 MXF12-20 § <3
s K MXF12-20 —H 8
[=% / [=% a
@ @ / @ 002
5 5 5
H L1 ° 002 I
g 002 kS 1 8
= 1 = =
o 20 40 60 0 20 20 60 80 0 20 40 60
Load (N) Load (N) Load (N)




Table displacement due to

pitch moment load

Table displacement when loads are applied to
the section marked with the arrow at the full
stroke.

= ]

%% HANUMAN e

Low Profile stide Table MXF Series

The graphs below show the table displacement when the static moment
load is applied to the table. The graphs do not show the loadable mass.
Refer to the Model Selection for the loadable mass.

Table displacement due to
yaw moment load

Table displacement when loads are applied to
the section marked with the arrow at the full

stroke. l
[
— |

Table displacement due to
roll moment load

Table displacement of section A when loads are
applied to the section F with the slide table
retracted.

E

|

L 9

—— >

MXF1 6 Lr = 40 mm
0.20 I 0.07 0.07
B E 0.06 E 006
£ o6 XF16-7! £ £
£ £ oos MXF16-75 £ oos MXF16-30 | MXF16-50
g g g
© 0.12 S 004 S 004
5 5 /MXF1G-50 £
g MXF16-50 g | 5
g 008 & g o003 ‘ g 003
5 O g g
o el MXF16-30 3
3 L £ o002 - £ o0
° | MXF16-30 B °
S 004 5 ] 5
54 / [ —1 © 001 < 001 /
] A
o 20 40 60 8 100 0 20 40 60 80 100 0 20 40 60 8 100 120
Load (N) Load (N) Load (N)
MXF20 Lr = 50 mm
0.10 J—
028 } ‘ ‘ 006
€ MXF20-100 € MXF20-100 T
£024 £ o0s i i E
g 5 MXF20- 75 5 MXF20-30 MXF20-50 MXF20-75 MXF20-100)
g 020 2 | ] g o004
3 & 006 — &
5 o1e g MXF20-50 _| | 5
g L MXF20- 75 £ N H
g 0.12 i S 004 P MXF20- 30 —| S
3 - g g o002
3 008 ﬁ - MXF20-50 3 3
o - MXF20- 30 2 2
5 L1 5 002 2
© 004 L [ | I ks 7
= ‘ ‘
0 50 100 150 200 0 50 100 150 200 0 40 80 120 160 200 240
Load (N) Load (N) Load (N)




&} Hanuman I

Construction MXF series

17
O\ [ & 7 a

=)
Wl o

Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminum alloy Hard anodized 16 Adjust bumper Polyurethane
2 Table Aluminum alloy Hard anodized 17 Piston seal NBR
3 End plate Aluminum alloy Hard anodized 18 Rod seal NBR
4 Rail Hardening steel Heat treated 19 O-ring NBR
5 Guide Hardening steel Heat treated
6 Rod Stainless steel )
7 | Piston — With magnet Replacement Parts: Seal Kit
8 Seal support Brass Electroless nickel plated Bore size (mm) Kit no. Contents
9 Head cap Resin 8 MXF8-PS
10 Floating i Stainless steel 12 MXF12-PS
11 Orifice Brass Electroless nickel plated 16 MXF16-PS Set of nos. above @ to @
12 Roller stopper Stainless steel 20 MXF20-PS
13 | Cylindrical roller High carbonch * Seal kit includes (17, 18, (9. Order the seal kit, based on each bore size.
14 Roller spacer Resin
15 Rod bumper Polyurethane
Replacement Part: Grease Pack
Applied part Grease pack part no.
- GR-S-010 (10g)
Guide GR-S-020 (20g)
. GR-L-005 (5g)
Cylinder GR-L-010 (10g)

Dimensions: Adjusting Bolt Assembly

Applicable Sl
c M e Model adustmart A |B| C M
MXF8 MXF-A827 5 17 6| 2 |M4x07
MXF-A827-X11 15 27
23 Tzﬁj\ MXFi2 | MXF-A1227 5 251 5| 55 | msx08
1 MXF-A1227-X11 15 335
N2 J:H:LL MXF-A1627 5 265
MXF16 | MXF-A1627-X11 15 365 | 8| 3 |Mext
MXF-A1627-X12 25 465
B A MXF-A2027 5 30
MXF20 | MXF-A2027-X11 15 20 |12 | 4 |m8x1
MXF-A2027-X12 25 50




&} Hanuman I

Dimensions: MXF8

Low Profile slide Table IMIXF Series

Adjuster at retraction end

03H9 (*3-925) depth 3

Adjuster at extension end

N+
(3 -1)xF

F (Equal pitch)

—A

Width across hexagon socket hole 2

Width across flats 6

Operating port 2 x M3 x 0.5
Note) (Plug: Width across flats 5)

N X M3 x 0.5 thread depth 6.5
4.7

&

14
&
105
21
|

=]

il

Sl N A7
\4

® 2 ® 3
® 9§ B8 ¢ 2| o
ki g v
b B 3
= 0
g <
ER ]
fat x
L//Lr 2 =
B
2 x M3 x 0.5 thread depth 6 le—A" 45
G H 8
Operating port 2 x M3 x 0.5 Section AA”
8 M |
@ N . "
S (Table length) * (E —1): The number of pitches
0 — ©|
e =iy
Bl
J 8 <
Z 24
zz Max. 9
Note) If long bolts are used, they can
G H touch the guide block and cause
malfunction, etc.
Refer to the Specific Product
© hd Precautions.
4 =]
g
B & So
=
.+ 4 g
>
P!
| LFF—=
=/ ¢ =

03H9 (*39%%) depth 3

(mm)

Model F

MXF8-10 20 135 | 22 21 49 | 495 | 58

MXF8-20 26 145 | 26 26 54 | 545 | 63

o|s|»|2

MXF8-30 26 145 | 40 M 69 | 695 | 78




@ HANUMAN .

Dimensions: MXF1 2 MXF Series

Adjuster at retraction end Adjuster at extension end
{} Width across hexagon socket hole 2.5
N * \ Width across flats 7
20.5 (3-1)x25 Operating port 2 x M5 x 0.8
Note) (Plug: Width across flats 7)
03H9 (*99%°) depth 3 25 . N x M3 x 0.5 thread depth 5.5
85
LN A 65 |
CERIG: o =
2 i J
N &
o
©
©
< e &% = -
© Q -‘E- B
8 ‘ 58
e
g
— _ _ _ So o
i 5 N g g
L F = x
< <
172\ =
Y
2x M3 x 0.5 thread depth 6 25 H 5.5 65
e |28, ] 4xM4x07
M Section AA”
10 | Operating port 2 x M5 x 0.8
o (Table length) *7 N
S, # (?— 1): The number of pitches
~ T_T_' )
TTH © & ©
A\~
0
J I w
r4 3
zz Max. 10.5
Note) If long bolts are used, they can
25 ) H ) touch the guide block and cause
‘ ‘ malfunction, etc.
Refer to the Specific Product
-0 -0 Precautions.
S = ©
£
o
= = = = )
il
a
g
B L
ry
I
)
4 s
o L—1
=: & & =
NS
03H9 (*0-%%°) depth 3 (mm)
Model N H I J M z zz
MXF12-20 4 22 11 36 65 65 76
MXF12-30 4 30 12 45 75 75 86
MXF12-50 6 65 13 80 111 111 122




&} Hanuman I

Low Profile siide Table MIXF Series

Dimensions: MXF16

Adjuster at retraction end

b/

24

04H9 (*3%%) depth 4

N x M4 x 0.7 thread depth 6.5

Adjuster at extension end

Width across hexagon socket hole 3

Note)

Width across flats 8

Operating port 2 x M5 x 0.8
(Plug: Width across flats 7)

6.7

18

20

80

"725

2 x M4 x 0.7 thread depth 10

275

T
L&
I8
1 |-
I
1€l
.,
© <
g :
=z =z
= =
=
NN 5.5
> —1)xH NN xM5x0.8
G () 1.
l—A" Section AA”
10 M , Operating port 2 x M5 x 0.8
2 (Table length) N
#( 5" 1): The number of pitches
o g
o 4 = -
© ) ¢ =D
J |
4 3
zz Max. 9
Note) If long bolts are used, they can
G H touch the guide block and cause
malfunction, etc.
$ Refer to the Specific Product
< < Precautions.
I I %_
I T e E——
g g
| | g
N A=
pid B
LS
04H9 (*39%°) depth 4
(mm)
Model N G H NN | J M z zz
MXF16-30 4 29 25 4 12 50 83 83 94
MXF16-50 6 29 55 4 12 80 113 | 113 | 124
MXF16-75 6 39 45 6 13 125 | 159 | 159 | 170




&} Hanuman I

Dimensions: MXF20

Adjuster at retraction end

MXF series

Adjuster at extension end

ﬁ Width across hexagon socket hole 4

\ Width across flats 12

30

33.5

N Operating port 2 x M5 x 0.8
. 28 (5 —1)x60 Note) (Plug: Width across flats 7)
60 N x M5 x 0.8 thread depth 9.5
1o ©5H9 (*59%) depth 5 A s o5
o) o
4| 1@ | 18 ® o (b =
o
@
6@ - - &
9 & ,@ ) ) S
w g LRy ) Ly ) N2
o ~ e e -
S
@ 3 1 © © g8
A s &
g o
- S 2 3
2 x| x|
| E z z
!y LT + = 2|
+ +
@ @) + -
0
2 x M5 x 0.8 thread depth 12 H 55 :} 85
NN - NN x M5x0.8
G (3 —1)xH 13
‘ Section AA
l—A - =
12 M |
Operati t2xM5x0.8
2 (Table length) ‘ perating port 2 x M5 x .
* (E —1): The number of pitches
0 ~
& &
£ i
O "t
J 12
z 3
zz Max. 9.5
H Note) If long bolts are used, they can
touch the guide block and cause
malfunction, etc.
-®O- -®- Q* Refer to the Specific Product
: d Precautions.
w
£
=
5
=
3
&
Pid t

ﬁ -—1

05H9 (*5°%) depth 5

(mm)
Model N G H NN J M Y4 zz
MXF20-30 4 29 30 4 57 91 91 104
MXF20-50 4 36 45 4 77 113 | 113 | 126
MXF20-75 6 40 45 6 125 | 162 | 162 | 175
MXF20-100 6 59 60 6 175 | 211 | 211 | 224




	Low Profile Slide Table: MXF Series
	Model Selection
	How to Order, How to Order Stroke Adjusting Bolt
	Specifications, Theoretical Output, Standard Stroke, Weight
	Table Deflection
	Construction, Dimensions: Stroke Adjustment Bolt
	Dimensions: MXF8
	Dimensions: MXF12
	Dimensions: MXF16
	Dimensions: MXF20
	Auto Switch Mounting
	Made to Order: Individual Specifications
	Specific Product Precautions



